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1 316 £FRK ERC2=7957 085217
2 320 A 2 ERS1=7557 08%22F
3 301 SH MK g7 R)—bk 084332
4 312 FHE R SEwk 084> 36F)
5 321 S/ g EEI7A2—X 0845 44%)
6 322 IR REED ERT7A2—R 085>46F)
7 323 R & g7 R)—bk 084353%)
8 310 L wRE—X 08459%)
9 314 MO ZRiE V754 RXELHST 09%306%>
10 313 KEF itHh SEwk 0953 16%
11 302 BH TR N7 58— L EHBRIST 094334%)
12 317 " B ERC2=7957 094339%)
13 318 Be iF EES1=T7H57 095343%>
14 307 fEE & —rEELIST 0953447
15 309 B & EREmEESELSTT 0953 49%)
16 319 SHEE ERC21=7957 095357%
17 315 BE Sk EES1=T7H57 105>28F)
18 304 &% KA BAATR)—5T 1043 38%)
19 305 FH &% BmEBFYX 1043467
20 308 FE K —rEELSST 1043555
21 306 ~H $EA BERTYX 1143458
- 303 PN NT7A2—XVEFEKIST FrfE 57
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